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/1. Hypuka6a (Nurikabe): XonborgcoH xaHa
VYCI3H XYCHIITUIH 3apuMm HyAHyyauir Oya.
Moxgas Oyxangas OypmargcaH 2x2  kBagpat v v
Gavx Gonoxryn. TooTon HyoHyyauuir Gyaaxryw.
bynargaaryn HygHyy4 Hb XOOPOHO00 Tanaapaa
XONOOrACOH X34 X343H MYXWUWr YYCraHa. Myx
Oyp 4OTpoOo TanbarH Xamxad byry HUNT HYOHURA } 1 > 1
TOOTOWIOO TOHLYY HAr Toor aryyrnHa. bygargaarym

XOEpP MY XOOPOHA00 36BX6H OPOMIoop0o0 XepLL 1 1
Gawix 6orHo. 5 5
bogonTbir rynuaTraxgad xaHbir OypaH 3ypaxbiH
39paruas A, B-asp ToMasrnacaH mep, GaraHag
OynaracaH 6ynar HyOHYYOUNH X3MXI3r 3YYHI3C
GapyyH, 433P33C 40O Ynrnang 6uy4aspan.

XKuwass 600020 Xapuy

AB: (12, 31)

A wmepa 1 GonoH 2
HyaTan, B GaraHapg
3 GonoH 1 HyaTan

Tip-1 Hypukab32 xapxaH 6000x 83 cnalidbi2 GynarncaH xacryya

awuenaapad. 6aiiHa
\_ %
1-1. Xon6oracoH xaHbIr ork 3ypaag, AB:-g 1-2. XonboracoH xaHbIr ork 3ypaag, AB:-g
Xapransax TOOHyyabIr 614aapain. Xxapransax TOOHyyabIr 614aapain.
4.5 oHoO 2.5 oHoO
B B
3 8
6 2 6
4 2
A 4
6 3 3
5 3
3 2 3 A
2 5 1
2 7 1 7
4

AB: AB:
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WSPC 2019-uitH 1, 2-p payHAbIH 3apuM nassnyyn

28 paxb ypaarunH Jloruk MasanbiH JAWT 3 egpunH Typt 14 payHa (LLaT) yprarpkUncaH. 3araapaac 6, 7, 13-p
payHayygag oponuordng 6araapaa epcengex, bycaa payHayyaas XyBuapaa epcengxkas.

R1-1. Yran moron (Easy as Word Snake) 3.5 oHoO

©reraceH YraH MOrOIMr Xerner 433p eepTee AnaroHanuiH XyBba 4 Xypaarryin 6anxaap 6anpnyyn. MoronH tue
Hb erergceH ycar, TOOHYYAbIr aryynax 6ereef Har HyYA3HA, HAr ycar, 3cBan undp 6arHa. MoronH Tonrom, cyyn
ererfceH. XenrMnH ragHax TOOHyyA Hb (4334 OONOH 3yyH TarbiH) xaprandax Mep, 6araHblH X343H HYA3HA
MOrFOVH x3car Gavraar, xapuH GapyyH 60noH 0004 TanblH yCryya TyxavH Mep, 6araHaz 3aacaH 4urnanasc
3AX3MK Xapargax yCrunr 3aaHa.

Place a snake into the grid that doesn’t touch itself, not even diagonally. The cells of the snake contain the
sequence of letters and digits shown below (one character per cell, no spaces). Head and tail of the snake
are given. The numbers outside the grid (above and to the left) indicate how many snake cells appear in the
respective row or column. The letters outside the grid (below and to the right) indicate the character in the first
snake cell in the respective row or column, seen from the respective direction.
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W D Banpnyynax yraH Morou:
] WELCOME TO KIRCHHEIM FOR THE 28TH
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R1-2. ABCtje 5 0HoO

©reraceH yeryyasg 1-15 ToOoHyyabIr TOXMPYYIaH OHOO. Anraatan ycar sinraatan Toor TeneenHe. Yr 6ypuiH
XyBb[, YCIYY434 Xapransax TOOHyyAblH HUANG3PUIAr erceH.

Assign numbers from 1 to 15 to the letters that appear in the given words. Different letters correspond to dif-
ferent numbers. For each word, the sum of the numbers corresponding to its letters is given.

HAVE =10 NICE = 31 DAYS = 36 HERE = 26
AND = 29 ENJOY =43 OUR =27 CONTEST =59

A/ICDEH I J NOR S T U|VY
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/R1 -3. Alphametic 3 OHOO\

BaraHaH OuunrnanTtanm ypxBap 3eB rapy Gawnxaap ycryyaunr 0-9 undpyyaasp conb. Vbkun yeryyauir mxun
UMdpaap, anraatam ycruir anraatam umMdpasp conux écton. ONnoH opoHTor Too 0-33p 3XarmK OOMoXryin.
X0O0COH (bapyyH TanblH) Tarw eHUerTyyass xapuyraa 6udHa vyy.

Replace letters by digits from 0 to 9 so that a correct long multiplication is formed. Same letters must be re-
placed by same digits, different letters must be replaced by different digits. Multi-digit numbers cannot start
with a 0. Please enter the solution in the empty grid on the right.

[oJ[wI[E] > [w][o][~ €] INEgEEEE

o][n][] 1
HHEE 1NN
[zl 1NN
[PJlo][v] L]
\ EEEENE oooog
/R1-4. YruunH cynmxaa (Crossword) 5.5 OHOO\

©reraceH YrcuMimr XaBTaarasp 3yyHaac 6apyyH, xapuH 60cooroop A433paac A0OL Ynrnang yHwuraaar 6anxaap
xener 033p 6arpnyyn. byx yrc xapunuaH xonbéoracoH 6arix 6a yr 6yp ar Har ygaa awwurnargaHa. Xoép 60rnoH
TYYH33C 331U TOOHbI YCIrTal eep Yr LUMHI3P YYCIXIyN. Xener 433p 3apuM YCryyaunr erceH bereep ninm ycar
Oyp Ar Har yrT OPCOH, MeH yr Byp 34raap YCryyasac Ar Har YCrunr aryyncaH 6amx éCTomn.

Enter the given words into the grid, so that they can be read horizontally from left to right or vertically from
top to bottom. All words must be interconnected, and each word must be used exactly once. No other words
of two or more letters may arise. Some letters are already given; each such letter must be used by exactly one
word, and each word must contain exactly one of these letters.

ANTALYA

BRNO

KOPRIVNICA

OPATIJA

T RIODEJANEIRO
ARNHEM

BUDAPEST

P Cl KRALJEVICA

J w ouLu

BANGALORE

G COLOGNE

A LONDON

PAPROTNIA

SOFIA

K T J BEIJING

F EGER

MINSK
POIANABRASOV

F STAMFORD

\% BOROVETS

ISTANBUL
NEWYORKCITY
PRAGUE

\_ UTRECHT Y




Jloauk lNa33anbiH JALT-uli yHOcaH 6a2uliH COH20H Wanzapyynanm banmean Ne1  2022/06/02

-

R1-5. KogoncoH dunnomuHo (Coded Fillomino) 2.5 oHoO

Xernruir K1Mm XamMKaaTon MYXKYy[ Tanaapaa HWUANOarrywm
Oavixaap (T AOwaroHanunH garyy, oponroopoo bue 6uenss
Xyp4 OONHO) X34 X349H MyXyygoan Xxyeaa. Too 6yp Hb
Gaviprniaxk Oym MyXMIUHXaa XAMX33r (HYAHMA TOOr) 3aaHa.
Tacapxal WwyramblH Aaryy xyBaaHa, raxaasa Tallyyngax oyry
AvaroHanbaax Xxyeaaxryh. Myxyyn Her 4 100 aryynaarym,
3CB3N HAr IOM Yy X3 X343H TOOHyyA aryyncaH 6amx 6onHo. ! !

3apvM TOOHYYAbIr YCraap COMNbX33. VhKnn ycryya wxun Toor, | |

Aanraatan ycryya snraatad TOOHYYObIr WMN3pXUUANHI. Ycryya | |

Hb H3I OPOHTO 9CB3J1 ONTOH OPOHTOW TOO Baik 6onox Gereen R
Xener A33p ypba4vmnaH 6anpnyyncaH TOOHYYAbIr TONeeriHe. ! ; 2

Divide the grid into several regions, so that regions of the | |
same size do not share an edge (they may touch diagonal- 44l _.
ly). Each number indicates the size (number of cells) of the ! !
region it is located in. Regions may contain none, one or sev- ! !

eral numbers. Some numbers have been replaced by letters. | |
Same letters represent same numbers, different letters repre- | |
sent different numbers. Letters can represent single-digit or
multi-digit numbers, and they can represent numbers already
present in the grid.

e T S T R
e T S T R

R e T T S S
Co
R e T T S S

R1-6. MacTep yr (Masterword) 4 oHoO

©reraceH yuryygag YHASCNAH 6 ycartanm macTtep Yrunmr on.
Yuur yr Oypunr mactep Yrtom xapbLyyncaH. Xap gyryni Hb
yI XO€p Yrang xoéynaHg Hb wxun Ganpnang Ganraa ycrumr
UNapxunnHa. LlaraaH Oyrym Hb XO€p YraH4 OPCOH, raxaad
Ganpnan Hb eep ycrunr 3aaHa. Mactep 60M0oH yunr yreag ycar
AasTargax 6onox 6ereeq x0€p yranA Xo€ynaHa Hb OflIoH yaaa
OPCOH yCryya n onoH ayryrnTtan GanHa.

©)

Find the six letter master word with the help of several clue
words. Each clue word is compared to the master word. A
black circle indicates a letter that appears in both words in the
same position. A white circle indicates a letter that appears
in both words in different positions. Letters may repeat in the
master word and in the clue words; a letter yields multiple cir-
cles only if it appears multiple times in both.

w v Z=XI T O
ccc<m-—>»0
ONZ=20Z 4 X =
X rm-m>®»C Z
cm®»®>Z2-—-CO
@ OO e @ @8 OO

[ )

(@)
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R1-7. OpoouongcoH yrc 1 (Tangled Words 1) 3 oHoO

©rergceH yreunr xenerT gapaax AypMunH garyy anpnyyn:

Yr 6yp caapan HyaH33C 3xarH3. Xoépaaxb YCar Hb CyMHbl 3aacaH YmMrnang XaBTa3 3CBan 60CO0roop, 3CBan
AnaroHanuH garyyx xepL HyasHg 6arvipnana. JapaarniH yeryya eMHexX YCrMAHX33 Tarl, 3CBaf OpoMroopoo
(AmnaroHanuiiH garyy) xepL HyA3HA 6arpnaHa. Yrc Har HyQuIAr ONoH yaaa alumnrnax 00noxX X3Aui Y VKU year
Aapaark OpCoOH TOXMONAONA 34r3sp Hb ©ep HyaHyyasa Ganpnax écton. Caapan HyQH33C ONIOH CyM rapcaH
TOXMONAONA N TyXaH HYOHI3C X3, X349H YT 3XNanTan 6amk 6onHo. Caapan HyA 43X YCar Hb 0P XashXK Har
YIMIAH axHMK ycar Banx écton. Oyryn aypctam HyaHyyaad (A, E, I, O, U) racaH arwwur ycryyg 6anx €cton.
XOO0COH HyaHyyA Gaik 6ornHo. Ycar 6yp sgax Har yraHa awumrnargax écton.

Place the given words into the grid, according to the
following rules:
Each word starts in a grey cell. The next letter must @
be placed in the horizontally or vertically adjacent cell
indicated by the direction of the arrow. Any further let-

. . : SUN
ter must be placed horizontally or vertically adjacent

. MERCURY

to the preceding letter. Words may use the same cell VENUS
more than once; however, if a word contains a double Q

o L EARTH
letter (the same letter twice in a row), it still has to use

v
two different cells for these. Multiple words can start Q ﬁAlJAIIﬁ'?ER
in the same grey cell if and only if there are multiple SATURN
arrows emanating from that cell. A letter in a grey cell @ @

; URANUS
must be the starting letter for at least one word. Cells NEPTUNE
with circles contain vowels (A, E, |, O, U), and vowels @
must be placed in cells with circles. Cells may remain
empty. Each letter must be used by at least one word.

. /
R1-8. OpoouonpcoH yrc 2 (Tangled Words 2) 6.5 oHoo

©reraceH yrcuMir xenert gapaax AypPMUIAH garyy 6anpnyyn:

Yr 6yp caapan HyOH33C 9xarnHa. [JapaarniH ycryyg Hb eMHexX YCTMHX33 Tan 6onoH guaroHanuapaa xepLu
HygaHA GanpnaHa. Yrc Har Hyauir OfloH alumrnax 60rox Xagaum Y MKUI YCar Japaank OpCOH TOXWMONAoNA
3rasp Hb eep HyaHyyA3n Oarpnax écTton. Har caapan HYAH33C X34 X343H yr axarmk 6onHo. Caapan Hyg
03X YCar Hb 0P Xashk HAr YruiH axnan 6omox écTon. 3apum yCcryyavir ypbauunaH 6anpnyyncan. Minm ycar
OypuiiH xyBba Byx xyynbapbir Hb xenert GanpnyyrncaH 6erees gaxwX LUMHIIP rapy Mpaxryn. Hya XoocoH
Gamx 6orHo, MeH ycar Byp S4ax Har yraHg awmrnargax €CTon.

Place the given words into the grid, according to the following rules:

Each word starts in a grey cell. Any further letter must touch the preceding letter horizontally, vertically or
diagonally. Words may use the same cell more than once; however, if a word contains a double letter (the
same letter twice in a row), it still has to use two different cells for these. Multiple words can start in the same
grey cell. A letter in a grey cell must be the starting letter for at least one word.

Some letters are already given. For every such letter, all copies are given, and no further copies of that letter
may be entered in the grid. Cells may remain empty. Each letter must be used by at least one word.

ARIMATSU
BABILON
E D A ENDO
HUANG

A MADARASSY
MEBANE
OSHER

E Ol E ROEST
SAMUEL
A D SNYDER
VOIGT

o)




Jloauk lNa33anbiH JALT-uli yHOcaH 6a2uliH COH20H Wanzapyynanm banmean Ne1  2022/06/02

R2-1. XypanucaH TeTpoMuHoHyya (Touching Tetrominoes) 1 oHoO

©reraceH 7 TETPOMUHO AYPCUNAT Xerner A33p Tanaapaa HUANC3H aypcyya bangarryn 6arixaap 6anpnyyn. [ypc
OYpUIAr sir Har yaaa aluuriaHa, MeH AypCcyyA 9praxk 060rox 4 TonMH OMNT XK BONoxryin. Xener 033px xap
Laryya Assp 2 TETPOMUHO OPONIrO0pOO0 (QUaroHanunH aaryy Xepiu) XypasnuaHa.

Place the full set of tetrominoes into the grid, each tetromino exactly once, so that no two tetrominoes share a
border. Tetrominoes can be rotated but not reflected. All grid points where two tetrominoes touch diagonally
are marked with a black dot.

. /

~
R2-2. XaHanyyp (Walls) 1.5 0HOO

XO00COH HyA ©onroHg 60C00 M Yy XOHANeH X3p4MM 3yp.
Hyn 03X TOOHyyqd Hb yr HyaTan xonborgcoH 60coo acBan 2 1 1
XOHAOSOH X3pUMYYAUVH YPTbIr (HYAHWA TOO) 3aaHa.

Draw a horizontal or vertical line segment into each empty
cell. The numbers indicate the total length of all
horizontal or vertical lines connected to the respective cells. 2 2

R2-3. Xepwyya (Neighbours) 2 OHOO

Mep, 6araHa Gypg Har TOO Ar Xo€p ygaa opcoH Ganxaap
1, 2, 3 TOOHyyabIr XycHarTag Ganpnyyn. Caapan eHreTamn 1
HYAHYYA A3X TOO Hb WXKWUIT TOOTOM ©ep HyATAM Taraapaa
xepL Gavx 6onoxryn. LlaraaH eHreTan Hyg 43X TOOHYYA Hb 2
VKM TOOTOW S4aX HAr eep HyATaN Tanaapaa xepl 6arnHa.

Enter numbers 1, 2, 3 into the grid, so that each number
appears exactly twice in each row and column. Numbers in
grey cells cannot share an edge with a cell containing the
same number. Numbers in white cells share an edge with at
least one cell containing the same number.
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R2-4. KypotTo (Kurotto) 2.5 oHOO

XYCHIITUAH 3apuM HYOWWAr Tanaapaa HUWIC3H Oynar oypcyya

yycax Oanxaap Oyn. Oaraap Oynryy4a XOOPOHAOO OpPOMroopoo @ @
(onaroHanuiiH  pgaryy) Xxypanuax 6onHo. [oTpoo AayrynTam @ O
Hyounr Oygaxryi. TOOHYYA Hb TyxalH HYATAM SAaX HAr HyA Hb

Tanaapaa xepw 6anx 6ygaracaH 6ynar HYAHYYAUAH XAMXKISHUIA O
(TanGariH) HUANGIPUIAT NNIPXUANHI. TOOrY HYOHYYAMIAH XyBbA
3H3 HMNNO3p Hb erergeeryn GomHo. @

Shade some cells to form groups of connected shaded cells. @ @
These groups can touch each other diagonally. Cells with circles

cannot be shaded. The numbers indicate the sum of the sizes of
all such groups where at least one shaded cell is horizontally or
vertically adjacent to the numbered cell. For cells without num- @ @ @

bers, these sums are unknown. @

. /

~
R2-5. Xonrunyypn (Corridors) 2.5 oHoo

XYCHaIrTMiiH GygaracaH HyaHaac Oycan XaCruir My Oyp sr Har
LaraaH, Har xap Qyryvr aryyncaH 6anxaap erergceH XaMxaaTan @ ! ! @
MyXyygan xyBaa. XyBaanTbliH anb 4 My> 2x2 kBagpat 6yxnaap ot S oo
Hb aryyncaH 6amxk 6onoxryi. bygaracaH HygHYYA anb 4 MyXug @ . . o
OpPOXryn. oot - -

Divide the grid (except the shaded cells) into regions of given e S i e S A
sizes, so that each region contains exactly one black circle and ; ‘ ‘ ! ;
one white circle. No 2x2 square can be located completely within S il A
one region. The shaded cells are not part of any region.

My>xyyabiH XaMxa3 (Tanban): ‘ ! ‘
57,9, 11,13 ‘

R2-6. Xonumor magaanantan eHgep 6apunryya (Skyscrapers-Mixed Information) 3 oHOO

XYCHarTumH mep, 6araHa Gypg ar Har yaaa opcoH Garixaap 1-6 1 1
TOOHYYAObIT HEXEX 6UY. DAraap TOOHYYA Hb Xapransax eHaepTai
(maBxap) Gapunryygbir TeneenHe. XyCHarTUH ragHax TOOHyyq 4 3
Hb Har 6on xapransax Mep, 6araHag TyxavH YMrNaNd3C XAYHI3H
Gapwunra xapargaxbir, 3CBan TyxalH YUITIAN33C IXAIMK Xapargax
GapunrbiH ©HOPUIAT, 3CBAN 3Ar33PUINH anb anb He 6anHa. (OHaep
GapunrblH apg OPCOH HaMxaH Gapwuira xapargaxryi.) 4

Enter numbers from 1 to 6 into the grid, so that each number
appears exactly once in each row and column.

These numbers represent skyscrapers of the corresponding
height. The numbers outside the grid indicate either how many
skyscrapers can be seen in the respective row or column from 4
the respective direction, or the first skyscraper in the respective

row or column, or possibly both. 2 2 2

. /
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R2-7. Xakioy (Hakyuu) 3 oHoO

N xamxaatanm Myxua 1-N TooHyyn ar Har ygaa 6GampnacaH
Gavixaap XenrviH MyXXyydan TOOHyyablr Hexex 6ud. Mep,
GaraHag vXun TOO AaBTaraBar 9H3 Hb SAra3p WKW TOOHYYAbIH
XOOPOHOO0X XaMIMinH ONp 3anr 3aaHa. ©epeep xanban Har Mep,
GaraHa gaxb wxknn N TOOHyyd Hb XOOPOHAOO siAaaX N TOOHbI
HY493p Tycraaprargax CTON racaH Vr.

Enter numbers into the grid, so that each region of size N con-
tains numbers from 1 to N, each number exactly once. If the
same number appears multiple times within a row or column,
the number itself indicates the minimum distance between these
numbers: each pair of equal numbers N in the same row or col-
umn must be separated by at least N other cells between them.

. /

/
R2-8. AnyypuuH NMupamup (Killer Pyramid) 4 oHoO

Too 6yp Hb Ar goon TanblHXaa X0ép TOOHbI HUINO3P, 3CBAN AnraBaptan ToHUyY Garixaap (xamrmnH oo
MepA 3H3 AYPIXM YUIUMAIXTYN) XOOCOH HYAHYYASA 1-9 TOOHYyAbIr HEXeX bud. Caapan eHreTan Mepa TOOHyyA
OIT AaBTargaxryn. XapwH LaraaH Mepyyasg Aop Xasbk HAr ToO AaBTargaHa. Tacapxaw wyramaap Xypa3scaH
HYOHYYA 43X TOOHYYAbIH HANG3pUIAT 3yyH 0334 6ynaHa 6uycaH Gereeq 3HS X3CarT MeH TOO AaBTargaxryiu.

Enter a number from 1 to 9 into each empty cell, so that (with the exception of the bottom row) each number
is either the sum or the difference of the two numbers directly below it. Within a shaded row, no number can
appear more than once. In an unshaded row there must be at least one number appearing more than once.
Within each small cage, the numbers must add up to the sum given in the top left cell, and no number can
appear more than once.

___________________________________

Tang amxunT XyCbe.

-8-



